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 تفاعلات الاكسدة والاختزال في الترب 

Oxidation and Reduction Reactions in Soils  

Redox Reactions  

تفاعلات الاكسدة والاختزال ع ا ة ع  تفاعلات ك   ا     ت  ف  ا     الال ترو ات      كا      

 ا ة ال  اخر .     ت  د  ا ت     دا  ا تف د الال ترو ات والاخر  ت تس  الال ترو ات ولا ت ر  

الال ترو ات     ة  رة في التفاع  ال    ا ي . وال ا ة لا ت    او تف د الال ترو ات  ال  ت  د 

  ا ة اخر  ت تس  ت   الال ترو ات ال ف   ة.

Oxidation: is the loss of electrons by an element 

  :  ي  ال  ف دا  الال ترو ات         ال   ر الاكسدة

Reduction: is the gain or acceptance of electrons 

 :  ي  ال  اكتساب الال ترو ات        ال   ر الاختزال

 ) و ي   ت ر ل      Redox reaction ت د تفاعلات الاكسدة والاختزال والتي      ع   ا

Reduction- Oxidation) ا  ا   ال  اة     .  The energy of life و ل   ت    لا ت ال 

 الال ترو ات     ال  ا  وت       ا  اخر  .



 و ي ع ا ر ال ا   (O, C, N, S, Fe, Mn )وال  ا ر ال س ول  ع      التفاعلات  ي  ال ا : 

 وخا   في ع   ات الت     ال  ا ي و  ا   ال ا   ل   ا  ال   ر   و  ر ا.

في تفاعلات الاكسدة والاختزال ت ت   الال ترو ات    ال ا ة  ات ال  د الت كسد  ال الي ) ال ا   

  (Oxidizing agent ) ( ال  ال ا ة  ات ال  د الت كسد  ال ا  Reducing agentال  تزل 

 فتت كسد الاول  وت تزل ال ا   .

 

Oxidation 

Fe
2+

                                            Fe
3+

   + e
-

 

Reducing agent   Reduction         Oxidizing agent 

 ا   ع     الاكسدة  ي ع     ف دا  الال ترو ات وع     الاختزال اكتساب الال ترو ات



  ال  ال د د    التفاعلات ال   ل     وال  د    التي ت    في الترب        تفاعلات الاكسدة 

والاختزال .     ا  ت     التر   و    ت ا ت د     و    الاوكس    او ال  د و    و ي ت    

 الات اكسدة واختزال في التر   ت    ال ا ة ال      في التر   وع     ع   ال تر   و  ر ا    

 ال    ات  ا  ي الا ا د تفاعلات الاكسدة والاختزال في الترب.

 ا  تفاعلات الاكسدة والاختزال ت ت د ع     ا  الال ترو  ا  ا  

pe= -log(e
-
)  (- log of electron activity in ,  mole.l

-1
) 



 pe + pHل لا       ا

                                                                          H2(g) . 

  Reduction State اولا: في  ال  الاختزال:

-:                          

H2O + e
-
                              ½ H2(g)   + OH

-
                                     (1) 

H
+
   + OH

- 
                          H2O                                                     (2) 

H
+
  + e

-
                                 ½ H2(g)                                                           (3) 

At equilibrium  

            (H2(g) )
1/2

 

     K
o
 = 

           (H
+
) (e

-
)  

Log K
o 
= ½ log H2(g) – log(H

+
) – log(e

-
) 



At equilibrium                                                                                

Log K
o 
= 0  

At standard state condition    ع د ال رو  ال  ا 

H)ف   
+
) activity = 1 mole/ L 

H2(g) is the partial pressure of the gas at 1 atm =    1ال    ال ز  ي ل ا  ال  د و   

 pe+ pH= - ½ log H2(g)  

 =                                                         1      

pe+pH = 0  

                                      pe+pH            



  Oxidation State ا  ا: في  ال  الاكسدة  

-:                           

H
+
 + e

-
   + ¼ O2(g)                                1/2H2O  

            (H2O)
1/2

          

At equilibrium K
o
 =  K

o 
=                      

(H
+
)(e

-
)(O2(g))

1/4
                                                                              

Kا       
o

K       سا  ا    ال ا   ال رة ال  ا    ل ت     وتساو   
o
= 10 

20.78
  

                                                    

Log(H
+
) – log(e

-
) – ¼ logO2(g) = 20.78 

Or pe+ pH = 20.78 + 1/4logO2(g)  



 =                                                      1 .  (1 atm.)  

pe+ pH = 20.78  

ل ا ع د ا  ز ا    ا  الال ترو  ف   ال    ال ز  ي ل ا  الاوكس            وال    ال ز  ي 

 ل ا  ال  د و         ز ا  .

                    pe + pH    >  0   < 20.78ل ا ف        



ConditionPredominanceReactionSpecies

AcidicLow pHDonates H+Acid

BasicHigh pHAccepts H+Base

ReducingLow peDonates e-Reductant

OxidizingHigh peAccepts e-Oxidant

Reference reactions

Acid-BaseH2O(L)+H+ = H3O
+ log  K= 0

RedoxH+ + e- = ½ H2(g) log K= 0

pe , pH  ا            ( 1) دول



   13.5 ال   6.8 عا ة  ا تتراو      - pe ف   7 الترب   دو  pHع د ا ت         

و     و   الترب كلاتي:- 

 pe < +13.5 > 7+     ترب  ت كسدة                          

 pe < +7 > 2+    ترب  ت     الاختزال                 

 pe< +2  > 2-               ترب   تزل                    

 pe  < -2> 6.8-     ترب عال   الاختزال                   



   د الاكسدة والاختزال والت  رات في ال ا   ال رة

Redox Potential and Free Energy Changes 

∆Gr= ∆Gr
o
 + RT ln Q    (or K)                                         (1) 

∆Gr = - nFE                                                                        (2) 

∆Gr
o
 = - nFE

o
                                                                     (3) 

∆Gr : Gibbs Free Energy of Formation  

∆Gr
o
 : Gibbs Standard Free Energy of Reaction when all products and 

reactants are in their standard states. 

R: Gas constant = 1.987 cal.deg
-1

.mole
-1

 

T: The temperature in degree kelvin (25
o
C = 298.15K) 

Q: The activity quotient of products to reactants for the reaction  

n:The number of moles of electrons participating in the reaction 

F: Faraday constant= 23.061 K cal.volt
-1

.equivalent
-1 

 

E: The cell potential for the reaction  

E
o
: Standard cell potential when the half-cell reaction  



                                                       

∆Gr= ∆Gr
o
 + RT ln K

o
                                               (4) 

At equilibrium       ∆Gr= 0 

∆Gr
o
 = -  RT ln K

o
                                                     (5) 

 

                  ∆Gr
o

 ( ت    3    ال  ا ل  )

- nFE
o
 = -  RT ln K

o
                                                       (6) 

(7)              E
o
= 

𝟐.𝟑𝟎𝟑 𝑹𝑻 𝒍𝒐𝒈 𝑲𝒐 

𝒏𝑭 
 

 

                 F,T,R :                      

Log K
o
= 16.9nE

O
                                                             (8) 

E
o
(millivolts) =    

𝟓𝟗.𝟐

𝒏
  log K

o
                                       (9) 

 

                                                                       K
o
              

              Standard electrode potential E
o
  



  pe versus Ehال لا       

 تساو   فر ل    خ    Eh و peا    ا    او  فر ات الاكسدة والاختزال وال ت        

 ال  د و    ال  ا ي . ل   فتر  لد  ا التفاع  التالي:-

Oxidized  + ne
-
                        Reduced  

                                     (10) K
o 
= 

( 𝑹𝒆𝒅𝒖𝒄𝒆𝒅 )

 𝑶𝒙𝒊𝒅𝒊𝒛𝒆𝒅 (𝒆−)𝒏
 

Log K
o
- npe = log 

 𝑹𝒆𝒅𝒖𝒄𝒆𝒅 

𝑶𝒙𝒊𝒅𝒊𝒛𝒆𝒅 
                   (11) 

Eh : the potential of the cell              



Pt,H2/H
+
// Reduced/oxidized ,pt  

        ال     في ال    ال سر   ساو   ال      ال     في ال    ال     

n/2HH2(g)                              nH
+
  + ne

-
             (12) 

Oxidized  + ne
-
                        Reduced           (13) 

n/2H2(g) + Oxidized                        nH
+
 + Reduced         (14) 

 ) ا  ال  د ال            د   ا و    ل   Nernest   ال  ا لات السا    ووف ا ال    ا ل  

     ف  ا    ال  د  ف     ا ل   ل  ال  د  ال ست    ك         و ف ا  الاتي(:-

∆G = ∆G
o
 + RTlnQ                                                             (15) 

         -nFE = - nFE
o
 +RT lnQ                                 (16) 

             

E= E
o
 -  

𝑹𝑻 

𝒏𝑭 
   ln Q                                                 (17)  

E= E
o
 -  

𝑹𝑻 

𝒏𝑭 
   ln 

 𝑯+ 𝒏( 𝑹𝒆𝒅𝒖𝒄𝒆𝒅 

𝑯𝟐 𝒈 𝒏/𝟐 (𝑶𝒙𝒊𝒅𝒊𝒛𝒆𝒅)
                       (18)                       

      

 E ف   H2(g)=1 و  1= (+H)    ا      ال  د و    ال  ا ي          ال     . ف  د ا 

        الت   ر ع  ا    ا   ي:-18 وال  ا ل  Eh ت    

Eh= E
o
 -  

𝑹𝑻 

𝒏𝑭 
   ln 

 ( 𝑹𝒆𝒅𝒖𝒄𝒆𝒅 

 (𝑶𝒙𝒊𝒅𝒊𝒛𝒆𝒅)
                                 (19) 



(                 11(             )19-:                            ) 

Eh= E
o
 -    

𝟐.𝟑𝟎𝟑 𝑹𝑻 

𝒏𝑭 
  ( log K

o
 – npe)                      (20) 

E
o=   

𝟐.𝟑𝟎𝟑 𝑹𝑻 

𝒏𝑭 
  logK

o
                                               (21) 

Eh=       
𝟐.𝟑𝟎𝟑 𝑹𝑻 

𝑭 
 pe                                                  (22) 

  ت    ال  ا ل   ال    التالي:- F,T,Rع د الت     ع      

Eh(millivolts) = 59.2 pe                                                  (23)  

  ع د ا تراك ز ال  ا  ال ت كسدة = تراك ز ال  ا  ال  تزل  Eo= Eh     ا   ست ت  ا  

Eo= Eh when [ oxidized] = [reduced] 

  Mid- point redox potential     ع     ا ال  د 



 في  ال  ع   ات ا  التفاع  ف   

Reduced                            Oxidized + ne-  

Eh= E
o
 +    

𝑹𝑻

𝒏𝑭 
  ln   

[𝑶𝒙𝒊𝒅𝒊𝒛𝒆𝒅]

[𝑹𝒆𝒅𝒖𝒄𝒆𝒅]
                                  (24) 

 والتي تت     Redox Coupleفي الترب عا ة  ا ت    تفاعلات اكسدة واختزال  ز و   

  و     ت     ا  ال  ا ل  التال   :- -e والال ترو ات  +Hو    ا   ات ال  د و    

Oxidand + mH
+
  + ne

-
                    Reductant                    (25) 

 Eh= E
o
 +    

𝑹𝑻

𝒏𝑭 
  ln   

[𝑶𝒙𝒊𝒅𝒊𝒛𝒆𝒅]

[𝑹𝒆𝒅𝒖𝒄𝒆𝒅]
 (H+

)
m

                              ( 26)             

Log (H
+
)             (27)             =   E

o
 +    

𝑹𝑻

𝒏𝑭 
  ln   

[𝑶𝒙𝒊𝒅𝒊𝒛𝒆𝒅]

[𝑹𝒆𝒅𝒖𝒄𝒆𝒅]
 +  2.303 

𝑹𝑻𝒎 

𝒏𝑭 
  

             

    =  E
o
 +    

𝑹𝑻

𝒏𝑭 
  ln   

[𝑶𝒙𝒊𝒅𝒊𝒛𝒆𝒅]

[𝑹𝒆𝒅𝒖𝒄𝒆𝒅]
 - 0.059   

𝒎

𝒏
   pH                         (28) 

  ف   ال  ا ل  ت    كالاتي:- pH=7ع د ا ت         

 (29)                               E
07

= Eo- 0.413 
𝒎

𝒏
 

Eh= E
07

 +  
𝑹𝑻

𝒏𝑭 
  ln  

(𝑶𝒙𝒊𝒅𝒊𝒛𝒆𝒅𝟎

 𝑹𝒆𝒅𝒖𝒄𝒆𝒅 
                               (30)  



Finally, 
Do you have any questions?


